
SAMPLE QUESTION PAPER
MATHEMATICS

Class- XII
Time : 3 Hurs./ 5 Minutes Full Marks : 100

Ü˛ÈÙÈ!Óû˛yà

1 ˆÌˆÏÜ˛ 18 ˛õÎ≈hsˇ ≤Ã!ï˛!ê˛ ≤ÃˆÏŸ¿Ó˚ üyö 1
1. f : R→R !ã˛eöñ f(x) =             myÓ˚y §ÇK˛yï˛ ~ÓÇ f !Ó˛õÓ˚#ï˛Ü˛Ó˚îˆÏÎyàƒ !ã˛eî •ˆÏ° f -1 !öî≈Î˚ Ü˛ˆÏÓ˚y–

2. tan -1      - Sec -1 (-2) ~Ó˚ ü%áƒüyö !öî≈Î˚ Ü˛ˆÏÓ˚y–

3. Î!ò üƒy!ê ∆̨:                                 ~ÓÇ A2 =    A •Î˚ ï˛ˆÏÓ    ~Ó˚ üyö Ü˛ï˛⁄

4.                            §ü#Ü˛Ó˚î ˆÌ Ï̂Ü˛ ‘a’ ~Ó˚ üyö !öî≈Î˚ Ü˛ˆÏÓ˚y–

5. f (x) = 2x2 + 1 xˆÏ˛õ«˛Ü˛!ê˛ x = 3 !Ó®%ˆÏï˛ §hsˇï˛ !Ü˛öy ̨õÓ˚#«˛y Ü˛ˆÏÓ˚y–

6. f  xˆÏ˛õ«˛Ü˛!ê˛ f (x) = – x– myÓ˚y §ÇK˛yï˛– ̂ òáyÄ ̂ Î x = 0 !Ó®%ˆÏï˛ f xÓÜ˛°ö ̂ Îyàƒ öÎ˚–

7. x = 1 !Ó®%ˆÏï˛ y = 3x4 + 4x ÓÜ ˛!ê˛Ó˚ flõ¢≈ˆÏÜ˛Ó˚ ≤ÃÓîï˛y !öî≈Î˚ Ü˛ˆÏÓ˚y–

8. üyö !öî≈Î̊ Ü˛ Ï̂Ó̊y É

9. üyö !öî≈Î̊ Ü˛ Ï̂Ó̊y É

10. ü)° !Ó®%àyü# öÎ˚ ~üö §Ó˚° ̂ Ó˚áyÓ˚ xÓÜ˛° §ü#Ü˛Ó˚î !öî≈Î˚ Ü˛ˆÏÓ˚y–

11. a = 2  i + 3 j + 4 k  ~Ó˚ x!û˛ü%ˆÏá ~Ü˛Ü˛ ˆû˛QÓ˚!ê˛ !öî≈Î˚ Ü˛ˆÏÓ˚y–

12. λ ~Ó˚ üyö Ü˛ï˛ •ˆÏ°  i + 2 λ j + k ~ÓÇ  2 i + j - 3 k ˆû˛QÓ˚ ò%•z!ê˛ ˛õÓ˚flõÓ˚ °¡∫ •ˆÏÓ⁄

13.        =      =            §Ó˚° ˆÓ˚áy!ê˛Ó˚ ˆÜ˛y§y•zö !òàAÜ˛ Sdirection cosineV !öî≈Î˚ Ü˛ˆÏÓ˚y–

14. ü)° !Ó®% ̂ ÌˆÏÜ˛  3x - 4y + 12z = 3 §üï˛°!ê˛Ó˚ ò)Ó˚c !öî≈Î˚ Ü˛ˆÏÓ˚y–

15. á§í ¸̨y !ã˛e xAÜ˛ö Ü˛ˆÏÓ˚

x ≥ o, y ≥ o, x+y ≥ 2 myÓ˚y !ö!î≈ï˛ xM˛°!ê˛ §§#ü öy x§#ü !öî≈Î˚ Ü˛ˆÏÓ˚y–

16. ˜Ó̊!áÜ˛ Ü˛yÎ≈Ü˛Ó̊ §ü§ƒy §¡õ!Ü≈̨ ï˛ xû˛#T˛ ã˛Ó̊ü Ü˛yÎ≈Ü˛Ó̊ §üyôyö SOptimal feasible solution V Ó° Ï̂ï˛ !Ü˛ ̂ Óyé˛⁄

17. Î!ò P (A∩B) =      , P(A) =      , P(B) =      •Î˚ñ ï˛ˆÏÓ A ~ÓÇ B âê˛öy ò%!ê˛ ˛õÓ˚flõÓ˚ fl∫yô#ö !Ü˛öy ˛õÓ˚#«˛y Ü˛ˆÏÓ˚y–

18. B (10,      ) !m˛õò !ö Ï̂Ó¢ö SBinomial distributionV ~Ó̊ ̂ û˛òüyö ̂ ÓÓ̊ Ü˛ Ï̂Ó̊y–
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áÙÈ!Óû˛yà

19 ˆÌ Ï̂Ü˛ 28 ˛õÎ≈hsˇ ≤Ã!ï˛!ê˛ ≤ÃˆÏŸ¿Ó˚ üyö  4

19. f : W → W   xˆÏ˛õ«˛Ü˛!ê˛ !ö¡¨!°!áï˛ û˛yˆÏÓ §Aàyï˛

Îáö n Î%@¬

Îáö n xÎ%@¬

n + 1,
n - 1,{f (n) =

 1 -
3

Z
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ˆòáyÄ f ~Ü˛!ê˛ §üÓ̊)̨ õ SbijectiveV x Į̈̂ õ«˛Ü˛– S W ̨õ)î≈ §ÇáƒyÓ̊ ̂ §ê˛V

20. §üyôyö Ü˛ Ï̂Ó̊y É

Sin -1 x + Sin -1 (1 - x) = Cos -1 x
21. !öî≈yÎ˚̂ ÏÜ˛Ó˚ ôü≈ ≤ÃˆÏÎ˚yà Ü˛ˆÏÓ˚ ̂ òáyÄ ̂ Îñ

22. f : R → R x Į̈̂ õ«˛Ü˛!ê˛ !ö¡̈!°!áï˛ û˛y Ï̂Ó §Aàyï˛

    f (x) = 3x - 2 Îáö 0 < x ≤ 1

= 2x2 - 2 Îáö 1 < x ≤ 2

= 5x - 4 Îáö    x > 2

x = 2 !Ó®%̂ Ïï˛ f ~Ó̊ §yhsˇï˛ƒ ~ÓÇ xÓÜ˛°ö Ï̂Îyàƒï˛y ̨õÓ̊#«˛y Ü˛ Ï̂Ó̊y–

xÌÓy

Î!ò x = a Cos3 θ ~ÓÇ y = a Sin3 θ •Î˚ ï˛ˆÏÓ                 !Ó®%ˆÏï˛           ~Ó˚ üyö !öî≈Î˚ Ü˛ˆÏÓ˚y–

23.                     í˛z˛õÓ,ˆÏ_Ó˚ ˆÜ˛w ˆÌˆÏÜ˛ ï˛yÓ˚ ˆÎ ˆÜ˛yö flõ¢≈ˆÏÜ˛Ó˚ í˛z˛õÓ˚ x!AÜ˛ï˛ °ˆÏ¡∫Ó˚ ˛õyò!Ó®%Ó˚ §M˛yÓ˚ ˛õˆÏÌÓ˚ §ü#Ü˛Ó˚î !öî≈Î˚ Ü˛ˆÏÓ˚y–

24. üyö !öî≈Î̊ Ü˛ Ï̂Ó̊y É

25. üyö !öî≈Î̊ Ü˛ Ï̂Ó̊y É

26. Î!òñ a = i + j + k ~ÓÇ b = j - k •Î˚ñ ï˛ˆÏÓ  c   ˆû˛QÓ˚!ê˛ !öî≈Î˚ Ü˛ˆÏÓ˚y ˆÎáyˆÏö  a x c = b  ~ÓÇ  a . c = 3

27. (1, -1, 2) !Ó®%àyü# ~ÓÇ 2x + 3y - 2z = 5, x + 2y -3z = 8 §üï˛° m Ï̂Î̊Ó̊ §!•ï˛ °¡∫û˛y Ï̂Ó xÓ!fiÌï˛ §üï˛°!ê˛Ó̊ §ü#Ü˛Ó̊î !öî≈Î̊ Ü˛ Ï̂Ó̊y–

28. ~Ü˛!ê˛ ˛õy Ï̂e 5!ê˛ §yòy ~ÓÇ 4!ê˛ ö#° Ó° xyˆÏåÈ– x˛õÓ˚ ~Ü˛!ê˛ ˛õyˆÏe 4!ê˛  §yòy ~ÓÇ 5!ê˛ ö#° Ó° xyˆÏåÈ– ≤ÃÌü ˛õye ˆÌˆÏÜ˛ ~Ü˛!ê˛ Ó° !mï˛#Î˚

˛õyˆÏe Ó˚yáy •°– ~áö !mï˛#Î˚ ˛õye ˆÌˆÏÜ˛ ~Ü˛!ê˛ Ó° ˆöÄÎ˚y •ˆÏ° Ó°!ê˛ ö#° •ÄÎ˚yÓ˚ §Ω˛yÓöy !öî≈Î˚ Ü˛ˆÏÓ˚y–

xÌÓy

~Ü˛!ê˛ ̂ éÑ̨ yÜ˛ ̨õ)î≈ åÈE˛y ~Ó̊)̨ õ ̂ Îñ xÎ%@¬ §Çáƒy Îï˛ÓyÓ̊ ̨õ Ï̂í˛̧ñ Î%@¬ §Çáƒy ï˛yÓ̊ !mà%îÓyÓ̊ ̨õ Ï̂í˛̧– åÈE˛y!ê˛ ò%ÓyÓ̊ à!í˛̧ Ï̂Î̊ ̂ òÄÎ̊y •°– ò%Óy Ï̂Ó̊ ≤ÃyÆ §Çáƒy

ò%!ê˛Ó̊ §ü!T˛ Î%@¬ •ÄÎ̊yÓ̊ §Ω˛yÓöy !öî≈Î̊ Ü˛ Ï̂Ó̊y–

à ÈÙÈ !Óû˛yà

29 ˆÌˆÏÜ˛ 35 ˛õÎ≈hsˇ ≤Ã!ï˛!ê˛ ≤ÃˆÏŸ¿Ó˚ üyö 6

29. üƒy!ê ∆̨: !Ó˛õÓ̊#ï˛Ü˛Ó̊î ̨õÂô!ï˛Ó̊ §y•y Ï̂Îƒ !ö¡̈!°!áï˛ §ü#Ü˛Ó̊î §ü)̂ Ï•Ó̊ §üyôyö !öî≈Î̊ Ü˛ Ï̂Ó̊y–

2x + 3y + 3z = 5
  x - 2y + z = - 4
3x - y - 2z = 3

d2y
dx2 θ =   /4

x2

6
y2

2 = 1+

2x + 5
7 - 6x - x2

dx
√

sin 2x tan -1 (cosx) dx
o

/2

→ → → → → → → →∧ ∧ ∧ ∧ ∧

χχχ
χ

χ
χ

β γ
β2 γ2

ß+γ γ+ + ß
2 = (   - ß) (ß - γ) (γ -   ) (  + ß + γ)

χ
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xÌÓy

~Ü˛!ê˛ xyÓy§ö ̨õ£Ï≈̂ ÏòÓ̊ ̨õ!Ó̊ã˛y°ö §!ü!ï˛ ï˛yÓ̊ §ò§ƒ Ï̂òÓ̊ !ö¡̈!°!áï˛ û˛y Ï̂Ó ̨õ%Ó̊fl,Òï˛ Ü˛Ó̊yÓ̊ !§Âôyhsˇ !ö° ̂ Îüöñ §y•!§Ü˛ï˛yÓ̊ çöƒ SôÓ̊y ÎyÜ˛

x çö Ï̂Ü˛Vñ x˛õÓ̊ Ï̂Ü˛ §•yÎ̊ï˛y Ü˛Ó̊yÓ̊ çöƒ SôÓ̊y ÎyÜ˛ y çö Ï̂Ü˛V ~ÓÇ ◊!üÜ˛ Ï̂òÓ̊ ̨õ!Ó̊flÒyÓ̊ ̨õ!Ó̊FåÈß̈ï˛yÓ̊ Ü˛yç ï˛òyÓ̊!Ü˛Ó̊ çöƒ SôÓ̊y ÎyÜ˛  z çö Ï̂Ü˛V–

§Ü˛° ̨õ%Ó˚flÒyÓ˚ ≤Ãy˛õ Ï̂Ü˛Ó˚ ̂ üyê˛ §Çáƒy 12– §•yÎ˚ï˛y Ä ï˛òyÓ˚!Ü˛Ó˚ ̨õ%Ó˚flÒyÓ˚ ≤Ãy˛õˆÏÜ˛Ó˚ §ü!T˛Ó˚ !ï˛öà%ˆÏöÓ˚ §!•ï˛ §!•ï˛ §y•!§Ü˛ï˛yÓ˚ ̨õ%Ó˚flÒyÓ˚

≤Ãy˛õ Ï̂Ü˛Ó̊ §ÇáƒyÓ̊ §ÇáƒyÓ̊ !mà%̂ ÏöÓ̊ §ü!T˛ 33– Î!ò §y•!§Ü˛ï˛y ~ÓÇ ï˛òyÓ̊!Ü˛Ó̊ ̂ «˛ Ï̂e ̨õ%Ó̊flÒyÓ̊ ≤Ãy˛õ Ï̂Ü˛Ó̊ §ÇáƒyÓ̊ §ü!T˛ xöƒ Ï̂òÓ̊ §•yÎ̊ï˛y Ü˛Ó̊yÓ̊

ˆ«˛ˆÏe ̨õ%Ó˚flÒyÓ˚ ≤Ãy˛õˆÏÜ˛Ó˚ §ÇáƒyÓ˚ !mà%î •Î˚ñ ï˛ˆÏÓ üƒy!ê˛∆: ̨õÂô!ï˛Ó˚ ≤ÃˆÏÎ˚yˆÏà §Ü˛° !Óû˛yˆÏà ̨õ%Ó˚flÒyÓ˚ ≤Ãy˛õˆÏÜ˛Ó˚ §Çáƒy !öî≈Î˚ Ü˛ˆÏÓ˚y– ~åÈyí ¸̨y

í z̨̨ õ Ï̂Ó̊y=˛ !Óû˛yàà%̂ Ï°y ̂ Îüö §y•!§Ü˛ï˛yñ ̂ Îüö §y•!§Ü˛ï˛yñ §•yÎ̊ï˛y ~ÓÇ ï˛òyÓ̊!Ü˛ åÈyí˛̧yÄ ̨õ!Ó̊ã˛y°ö Ü˛!ü!ê˛ xöƒ ̂ Ü˛yöÄ !Ó£Ï̂ ÏÎ̊ ̨õ%Ó̊flÒyÓ̊ ≤Ãòyö

Ü˛Ó˚̂ Ïï˛ ̨õyˆÏÓ˚ !Ü˛öy ~ !Ó£ÏˆÏÎ˚ ̂ ï˛yüyÓ˚ x!û˛üï˛ Óƒ=˛ Ü˛ˆÏÓ˚y–

30. f(x) = x3 - 2x2 - x + 3 myÓ˚y §Aàyï˛ ̂ Ü˛yö xˆÏ˛õ«˛ˆÏÜ˛Ó˚ [0, 1] xhsˇÓ˚yˆÏ° °ƒy@ˇÃyˆÏOÓ˚ üôƒüyö í˛z˛õ˛õyòƒ!ê˛ ≤ÃˆÏÎyçƒ !Ü˛öy Îyã˛y•z Ü˛ˆÏÓ˚y–

xÌÓy

ˆòáyÄ ̂ Îñ ≤Ãò_ §ü@ˇÃï˛° !Ó!¢T˛ §Ó≈Ó,•Í xyÎ˚ï˛ˆÏöÓ˚ °¡∫Ó,_yÜ˛yÓ˚ ¢AÜ%˛Ó˚ xô≈¢#£Ï≈ˆÏÜ˛yî  sin -1 (    )

31. §üyÜ˛° Ï̂öÓ̊ §y•y Ï̂Îƒ

{(x, y) : x2+y2  ≤ 16, x2 ≤ 6y}  ̂ «˛e!ê˛Ó˚ ̂ «˛eú˛° !öî≈Î˚ Ü˛ˆÏÓ˚y–

32. x      +2y = x2, (x ≠ 0) xÓÜ˛° §ü#Ó˚Ü˛Ó˚î!ê˛Ó˚ !ÓˆÏ¢£Ï §üyôyö !öî≈Î˚ Ü˛ˆÏÓ˚y– ̂ ÎáyˆÏö x=2  •ˆÏ° y =1

33. x+2y+3z = 4 ~ÓÇ 2x + y-z = -5 ï˛°m Ï̂Î̊Ó̊ ̂ åÈò Ï̂Ó̊áyàyü# ~ÓÇ    r (4 i + 3 j + 6 k ) + 8 = 0 §üï˛ Ï̂°Ó̊ í z̨̨ õÓ̊ °¡∫ ï˛°!ê˛Ó̊ §ü#Ü˛Ó̊î

!öî≈Î̊ Ü˛ Ï̂Ó̊y–

xÌÓy

 r = (1+2 λ ) i + (1 - λ ) j + λ k ~ÓÇ  r = (2 i - j - k ) +      (2 i + j + 2 k) §Ó˚° ̂ Ó˚áymˆÏÎ˚Ó˚ üôƒÓï≈˛# «%˛oï˛ü ò)Ó˚c SShortest
distanceV ~ÓÇ «%̨ oï˛ü ò)Ó̊c !öî≈Î̊Ü˛yÓ̊# §Ó̊° ̂ Ó̊áyÓ̊ §ü#Ü˛Ó̊î !öî≈Î̊ Ü˛ Ï̂Ó̊y–

34. ~Ü˛çö ÓƒÓ§yÎ˚# !Ü˛å%È §ÇáƒÜ˛ ̂ §°y•z ̂ ü!¢ö ̂ Ü˛öyÓ˚ •zFåÈy ≤ÃÜ˛y¢ Ü˛ˆÏÓ˚ö– !ï˛!ö ~çöƒ üye 5760 ê˛yÜ˛y !Ó!öˆÏÎ˚yà Ü˛Ó˚̂ ÏÓö ~ÓÇ ïÑ˛yÓ˚ §Ó≈y!ôÜ˛

20!ê˛ !ç!ö§ Ó̊yáyÓ̊ fiÌyö §ÇÜ%̨ °yö •Î̊– ~Ü˛!ê˛ !Óò%ƒÍ ã˛y!°ï˛ ̂ §°y•z ̂ ü!¢ö ~ÓÇ ~Ü˛!ê˛ •hflÏã˛y!°ï˛ ̂ §°y•z ̂ ü!¢ö !Ü˛ö Ï̂ï˛ ïÑ̨ yÓ̊ ÎÌyÜ ̨ Ï̂ü 360
ê˛yÜ˛y ~ÓÇ 240 ê˛yÜ˛y áÓ˚ã˛ •Î˚– ïÑ˛yÓ˚ ≤Ãï˛ƒy¢y ≤Ã!ï˛!ê˛ !Óò%ƒÍã˛y!°ï˛ ̂ §°y•z ̂ ü!¢ö Ä ≤Ã!ï˛!ê˛ •hflÏã˛y!°ï˛ ̂ §°y•z ̂ ü!¢ö !Ó!Ü ˛ Ü˛ˆÏÓ˚ ÎÌyÜ ˛ˆÏü 22
ê˛yÜ˛y ~ÓÇ 18 ê˛yÜ˛y °yû˛ ̨õyˆÏÓö– ôˆÏÓ˚ ̂ öÄÎ˚y •° !ï˛ö §Ü˛° !ç!ö§•z !Ó!Ü ˛ Ü˛Ó˚̂ Ïï˛ ̨ õyÓ˚̂ ÏÓöñ ï˛y•ˆÏ° !Ü˛Ó˚)ˆÏ˛õ !ï˛!ö xÌ≈ !Ó!öˆÏÎ˚yà Ü˛Ó˚̂ Ï°

§Ó≈y!ôÜ˛ °yû˛ Ü˛Ó˚̂ Ïï˛ ̨õyÓ˚̂ ÏÓö ï˛y ̃ Ó˚!áÜ˛ ̂ ≤Ãy@ˇÃy!üÇ ̨õÂô!ï˛Ó˚ §y•yˆÏÎƒ ≤ÃÜ˛y¢ Ü˛ˆÏÓ˚y ~ÓÇ ̂ °á!ã˛ˆÏeÓ˚ §y•yˆÏÎƒ §üyôyö Ü˛ˆÏÓ˚y–

35. !ï˛ö!ê˛ ü%oy xy Ï̂åÈ ÎyÓ̊ ~Ü˛!ê˛Ó̊ í z̨û˛Î̊!òÜ˛ ̂ •í˛ SHeadV Î%=˛ñ x˛õÓ̊!ê˛ ̨õ«˛˛õyï˛ò,T˛ SbiasedV ̂ Î!ê˛ 75% Head ̨õ Ï̂í˛̧ ~ÓÇ ï,̨ ï˛#Î̊!ê˛ ̨õ«˛˛õyï˛¢)öƒ

ü%oy– ̂ Î ̂ Ü˛yˆÏöy ~Ü˛!ê˛ ü%oy ÎˆÏÌFåÈû˛yˆÏÓ !öÓ≈yã˛ö Ü˛Ó˚y •° ~ÓÇ ê˛§ Ü˛ˆÏÓ˚ ̂ òáy ̂ à° ̂ Î Head ̨õˆÏí ¸̨̂ ÏåÈñ ï˛y•ˆÏ° ü%oy!ê˛ í˛zû˛Î˚!òÜ˛ Head Î%=˛

•ÄÎ˚yÓ˚ §Ω˛yÓöy Ü˛ï˛⁄

dy
dx

→ ∧ ∧∧

→ ∧ ∧ ∧ → ∧ ∧ ∧ ∧ ∧ ∧

N: B - (1) All questions are compulsory.

(2) There is no overall choice in the paper. However internal choice is provided in 2 questions of 6 marks each.

(3) In SA and LA type of questions total marks may be subdivided into different parts, if necessary.

(4) Use of Calculator is not permitted.

1
3
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MODEL QUESTIONS
Class - XII

Sub : Mathematics
Time allowed - 3 Hurs./ 15 Minutes Full  Marks : 100

Section - A
Questions number 1 to 18 carry 1 mark each.

1. If    f : R → R defined by f(x) =              is an invertible function, then find f  -1

2. Find the principal value of  tan -1          - Sec -1 (-2)

3. If  matrix                                and A2 =                     A, then write the value of                     .

4. Find ‘a’ from the equation

5. Examine the continuity of the function f(x) =2x2 +1 at x =3

6. Show that the function f defined by f(x)= – x– is not differentiable at x=0

7. Find the slope of the tangent to the curve  y= 3x4 + 4x at x=1

8. Evaluate :

9. Evaluate :

10. Find the differential equation of a straight line not passing through the origin.

11. Find the unit vector in the direction of vector  a = 2  i + 3 j + 4 k

12. For what value of  λ the vectors  i + 2 λ j + k  and   2 i + j - 3 k  are perpendicular?

13. Find the direction  cosines of the straight line           =        =

14. Find the distance of the plane 3x - 4y + 12z = 3 from the origin.

15. Examine (by drawing rough sketch) if the region determined by
x ≥ o, y ≥ o, x+y ≥ 2
is finite or infinite

16. Define optimal feasible solution in connection with objective function of an L.P. Problem.

17. If  P (A∩B) =      ,  P(A) =      , P(B)=        determine if the events A and B are independent.

18. Write the variance of a B (10,      ) variate.

Section - B
Questions number 19 to 28 carry 4 marks each.

19. Show that the function  f :       →       defined by

2x + 7
4

√3

A =    2 - 2
- 2   2

a 4
2 2a = 0

dx
x (x + 1)

Sinθ dθ
∧

∧

→ ∧ ∧ ∧

∧ ∧ ∧ ∧ ∧ ∧

x + 1
2

y
6

 1 -
3

1
3

2
3

1
2

2
5

n + 1,
n - 1,{f (n) =

if  n  is even
if  n  is odd

Z

is a bijective  function. (       is the set of whole numbers)
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20. Solve :
Sin -1 x + Sin -1 (1 - x) = Cos -1 x

21. Using properties of determinants, prove the following

22. f : R → R is defined as follows :

    f (x) = 3x - 2 when 0 < x ≤ 1

= 2x2 - 2 when 1 < x ≤ 2

= 5x - 4 when    x > 2

Examine continuity and differentiability of  f  at x = 2

OR

If x = a Cos3 θ ~ÓÇ y = a Sin3 θ  then find the value of            at

23. Find the locus of the foot of the perpendicular let fall from the centre of the ellipse  on any
tangent to the ellipse.

24. Evaluate :

25. Evaluate :

26. If  a = i + j + k  and  b = j - k  then find the vector c, such that

a x c = b  and  a . c = 3

27. Find the equation of plane that passes though the point (1, -1, 2) and is perpendicular to each of the planes
2x + 3y - 2z = 5 and x + 2y - 3 z = 8

28. An urn contains 5 white and 4 blue balls. Another urn contains 4 white and 5 blue balls. A ball is  drawn from
the first urn and put into the second urn. Then a ball is drawn from the second urn. Find the probability that the
ball drawn is blue.

OR
A biased die shows faces having even integers twice as much having odd integers on the faces. It is thrown
twice, find the probability that the sum of the integers shown on the faces is even.

Section - C
Question numbers 29 to 35 carry 6 marks each.

29. Solve the following system of equatins using matrix inversion method :
2x + 3y + 3z = 5
  x - 2y + z = - 4
3x - y - 2z = 3

 θ =   /4
d2y
dx2

x2

6
y2

2 = 1+

2x + 5
7 - 6x - x2

dx
√

Sin 2x tan -1 (Cosx) dx
o

/2

→ →∧ ∧ ∧ ∧ ∧

→ → → → →

χχχ
χ

χ
χ

β γ
β2 γ 2

ß+γ γ+ + ß
2 = (   - ß) (ß - γ) (γ -   ) (  + ß + γ)

χ



OR

The manegement committee of a residential colony decided to award some of its members (say x) for courage,
some (say y) for helping others and some other (say z) for supervising the workers to keep the colony neat and
clean. The sum of all the awardees is 12. Three times the sum of awardees for Co-operation and supervision
added to two times the number of awardees for courage is 33. If the sum of the number of awardees for
courage and supervision is twice the number of awardees for helping others, using matrix method, find the
number of awardees of each category. Apart from these values, namely, courage, cooperation and supervision,
suggest one more value which the management of the colony must include for awards.

30. Examine the validity of Lagrange’s mean value theorem for the function defined by f (x) = x3 - 2x2 - x + 3 in
[0, 1].

OR

Show that semi - vertical angle of right circular cone of given total surface area and of maximum volume is
Sin-1 (    )

31. Using integration, find the area of the region

{(x, y) : x2+y2  ≤ 16, x2 ≤ 6y}

32. Find the particular solution of the following differential equations,

x      +2y = x2, (x ≠ 0) Given that y = 1 at x = 2

33. Fine the vector equation of the plane which contains the line of intersection of the planes  x + 2y + 3z = 4 and
2x + y - z = -5 and which is perpendicular to the plane   r (4 i + 3 j + 6 k ) + 8 = 0

OR

Find shortest distance between lines

r  = (1+2λ) i + (1 - λ ) j + λ k

and also the equation of the line of shortest distance.

34. A dealer in wishes to pruchase a number of sewing machines. He has only Rs. 5760 to invest and has space for
at most 20 items for storage. An electric sewing machine Costs him Rs. 360 and a manually operated sewing
machine Rs. 240. He can sell an electric sewing machine at a profit of Rs. 22 and a manually operated sewing
machine a profit of Rs. 18. Assuming that he can sell all the items that he can buy, how should he invest his
money in order to maximize his profit ? Make it as an LPP and solve it graphically.

35. There are three coins. One is a two headed coin (having head on both faces), another is a biased coin that
comes up heads 75% of the time and the third is an unbiased coin. One of the three coins is chosen at random
and tossed. It shows heads, what is the probability that it was the two headed coin ?

N:B - (1) All questions are compulsory.

(2) There is no overall choice in the paper. However internal choice is provided in 2 questions of 4 marks each
and 3 questions of 6 marks each.

(3) In SA and LA type of questions total marks may be subdinided in to different parts, if necessary.

(4) Use of calculator is not permitted.

1
3

dy
dx

→ ∧ ∧∧

→ ∧ ∧ ∧ → ∧ ∧ ∧ ∧ ∧ ∧
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and  r  = (2 i - j - k ) +     (2 i + j + 2 k)


